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Pelnre HEpaBEHCTBO: (xr=6)x+1) <0.
(x+2)(2x—5)
/" Pemene: ¥—6=0 5x+41=0 x+2=0 2x-5=0

xX=06 x=-0,2 xX=-2 x=2,5
— +
2 0,2 2.5 6
(7-6)(3-7+1) > 0(+)
(7+2)(2-7-5)

(5-63:5+D

Q+2)(2-5—5) /




3AJIAHUE Ne8

(x=6)5x+D) _,
(x+2)2x-5)

[ Pemure HepaBEeHCTBO:

/" Pemene: ¥—6=0 S5x+1=0 x+2=0 2x—5=0
xX=06 x=-0,2 xX=-2 x=2,5
+ — + >
-2 0,2 2.5 6
(7-6)3-7+1) (1-6)(3-1+1)
> 0(+)
(7+2)(2-7-5) (1+2)(2_1_5)>0(+)
(5—6)(3-5+1)<0(_)

Q+2)(2-5—5) /




3AJIAHUE Ne8

(x=6)(5x+D) _
(x+2)2x-5)

[ Pemure HepaBEeHCTBO:

/" Pemene: ¥—6=0 5x+41=0 x+2=0 2x-5=0
x=6 x=-0,2 x=-2 x=2,5
— + — + >
-2 0,2 2.5 6
(7-6)3-7+1) (1-6)(3-1+1)
0
(7+2)(2'7—5)> ) (1+2)(2.1—5)>O(+)
(5-6)3-5+1) <0(-) C1=0@-(D+D

Q+z)(2-5—5) (-1+2)2-(=D-5) ) /




3AJIAHUE Ne8

(x=6)(5x+D) _
(x+2)2x-5)

[ Pemure HepaBEeHCTBO:

/" Pemene: ¥—6=0 Sx+1=0 x+2=0 2x—5=0
xX=06 x=-0,2 xX=-2 x=2,5
+ — + — +
-2 -0,2 2.5 6
(7=6)B-7+D _ (1-6)(3-1+1) (=3-6)(3-(=3)+1)
(7+2)(2-7=5) ) (1+2)(2-1—5)>O(+) (—3+2)(2-(—3)—5)>

(5-6)(3-5+1) <0(-) C1=0@-(D+D

Q+z)(2-5—5) (-1+2)2-(=D-5) ) /

>

0(+)




3AJIAHUE Ne8

[ Pelnre HEpaBEHCTBO: (xr=6)x+1) <0. J
(x+2)(2x-5)
/" Pemene: ¥—6=0 5x+1=0 x+2=0 2x—5=0
x=6 x=-0,2 xX=-2 x=2,5
+ + + >
-2 —0,2 2.5 6
(7=6)B-7+D _ (1-6)(3-1+1) (=3-6)(3-(=3)+1)
(7+2)(2-7-5) ) (1+2)(2-1—5)>O(+) (—3+2)(2-(—3)—5)>O(+)
(5-6)3-5+1) <0(-) C1=0@-(D+D

Q+z)(2-5—5) (-1+2)2-(=D-5) ) /




3AJIAHUE Ne8

(x=6)(5x+D) _
(x+2)2x-5)

[ Pemure HepaBEeHCTBO:

/" Pemene: ¥—6=0 5x+1=0 x+2=0 2x—5=0
x=6 x=-0,2 xX=-2 x=2,5
+ + +
-2 —0,2 2.5 6
(7=6)B-7+D _ (1-6)(3-1+1) (=3-6)(3-(=3)+1)
(7+2)(2-7-5) ) (1+2)(2-1—5)>O(+) (—3+2)(2-(—3)—5)>
BC=0)G-5+D oy (-1-6)3-(=D)+1) <0()

D59 QD=9 Orper: (-2-02) 0 (2,5:6),/

>

0(+)




3AJIAHUE Ne9

[ Pemmre HepaBeHCTBO: X~ —3x+52>0. ]

4 A




3AJIAHUE Ne9

[ Pemmre HepaBeHCTBO: X~ —3x+52>0. ]

/ Penienue: \
1) x> =3x+5=0

a=1;b=-3;c=5

D=b>-4ac=9-4-1-5=-11

KOPHEN HET

\_ /




3AJIAHUE Ne9

[ Pemmre HepaBeHCTBO: X~ —3x+52>0. ]

/ Penienue: \
1) x> =3x+5=0

a=1;b=-3;c=5

_|_

— 2 _ _

KOPHEN HET

\_ /




3AJIAHUE Ne9

[ Pemmre HepaBeHCTBO: X~ —3x+52>0. ]

/ Penienue: \
1) x> =3x+5=0

a=1;b=-3;c=5

_I_

— 2 _ _

KOPHEN HET

\_ /




3AJIAHUE Ne9

[ Pemmre HepaBeHCTBO: X~ —3x+52>0. ]

/ Penienue: \
1) x> =3x+5=0

a=1;b=-3;c=5

_I_

— 2 _ _

KOPHEN HET

\ OTBeT: X — M1000€ YUCIIO. /




3AJIAHUE Nel0

[ Pemmre HepaBeHCTBO: X~ —3x+5> 0. ]

/ Penienue: \
1) x> =3x+5=0

a=1;b=-3;c=5

_I_

— 2 _ _

KOPHEN HET

\ OTBeT: X — M1000€ YUCIIO. /




3AJTIAHUE Nell

[ Pemmre HepaBeHCTBO: X~ —3x+5<0. ]

/ Pemenue; \
1) x> =3x+5=0

a=1;b=-3;c=5

_|_

— }? — —

KOPHEN HET

\ OTBeT: pelIeHUN HET. /




3ATAHUE Nol2

[ Pemmre HepaBeHCTBO: X~ —3x+5<0. ]

/ Pemenue; \
1) x> =3x+5=0

a=1;b=-3;c=5

_|_

— }? — —

KOPHEN HET

\ OTBeT: pelIeHUN HET. /




3AJIAHUE Nel3

[ Pemure HepaBeHCTBO: X~ —6x+9 > 0. ]

4 A




3AJIAHUE Nel3

[ Pemure HepaBeHCTBO: X~ —6x+9 > 0. ]

/ Penienue: \
1)x*—6x+9=0

a=1;b=-6;c=9

D=b*—4ac=36-4-1-9=0

_b+JD _6+0 6
2a 2.1 2
b-D 6-0 6

x2: = :—:3
\ 2a 21 2 /

3

X




3AJIAHUE Nel3

[ Pemure HepaBeHCTBO: X~ —6x+9 > 0. ]

/ Penienue: \
1)x*—6x+9=0

2) x> —6x+9=(x—-3)(x-3)

a=1;b=-6;c=9

+ U + >
D=b>-4ac=36-4-1.9=0 3
N _—b+\/5_6+0_§_3 (4-3)(4-3)>0 (1)
2 21 2 (2-3)(2-3)>0 ()

b-D 6-0 6

x2: = :—:3
\ 2a 21 2 /




3AJIAHUE Nel3

[ Pemure HepaBeHCTBO: X~ —6x+9 > 0. ]

/ Penienue: \
1)x*—6x+9=0

2) x> —6x+9=(x—-3)(x-3)

a=1;b=-6;c=9

D=b>-4ac=36-4-1-9=0 3
_—b+\/5_6+0_6_3 (4-3)(4-3)>0(+)
NEThd T 21 2 (2-3)(2-3)>0 (+)

b-D 6-0 6

X~ = = :—:3
\ ’ 2a 2.1 2 OTBeT: x — JIF0OO0E YUCIJIO. /




3AJIAHUE Nel4

[ Pemure HepaBeHCTBO: x° —6x+9 > 0. ]

/ Penienue: \
1)x*—6x+9=0

2) x> —6x+9=(x—-3)(x-3)

a=1;b=-6;c=9

D=b>—4ac=36-4-1.9=0 3
_b+JD 6+0 6 ] (4-3)(4-3)>0(+)

x = = = — ==

: 2a 2.1 2 (2-3)2-3)>0 (1)

b-D 6-0 6

x2 = = = —= 3
\ 2 21 2 OTBeT: (=00;3)U (3;+oo)./




3AJIAHUE Nel5

[ Pemute HepaBeHCTBO: X~ —6x+9 < 0. ]

/ Penienue: \
1)x*—6x+9=0

2) x> —6x+9=(x—-3)(x-3)

a=1;b=-6;c=9

+ U + >
D=b>-4ac=36-4-1.9=0 3
N _—b+\/5_6+0_§_3 (4-3)(4-3)>0 (1)
2 21 2 (2-3)(2-3)>0 ()

b-D 6-0 6

x2: = :—:3
\ 20 21 2 Otger: 3. /




3AJIAHUE Nel6

[ Pemure HepaBeHCTBO: X~ —6x+9 < 0. ]

/ Penienue: \
1)x*—6x+9=0

2) x> —6x+9=(x—-3)(x-3)

a=1;b=-6;c=9

+ + >
D=b>-4ac=36-4-1.9=0 3

N _—b+\/5_6+0_§_3 (4-3)(4-3)>0 (1)
o2 21 20 (2-3)(2-3)>0 ()

b-D 6-0 6

x2 = = = —= 3 . .
2a 21 2 OTBET: PENICHUN HET.




